HERTRICH FLEET SERVICES, INC

1427 Bay Road

Milford, DE 19963

Ford - Chevrolet - Dodge - Jeep Lincoln - Honda - Buick - GMC - Toyota - Nissan

(800) 698-9825

(302) 422-3300

Fax: (302) 839-0555

May 18, 2021

City of Hyattsville 4310 Gallatin Street 2nd Floor Hyattsville, MD 20781

Lt. F. DonBullian L-103

Administrative Services Commander

We are pleased to provide this quote for a 2021 Ford Police Interceptor Utility, K8A, priced per Maryland BPO# 001B06001353, and equipped as follows: 3.3L V6 TI-VCT Engine, 10 Speed Automatic Transmission, Rear Door Locks / Windows In-operable, Courtesy Lamp Disable, Daytime Running Lamps, Rear View Camera Display in Rear View Mirror.

1	Code	Description	Amount
	Vehicle	2021 Ford Police Interceptor Utility AWD; 3.3L V6 DI Engine- Type 10-4-M-P	\$32,387
	99W	Hybrid Engine Option	\$3,262
	M7/F6	Carbonized Gray Exterior - Ebony Cloth Front Buckets & Rear Cloth Bench	N/C
	500A	All Standard Equipment per PEP 500A	N/C
	BLT	Bluetooth Connectivity	STD
	153	Front License Plate Bracket	N/C
	16C	Carpet Floor Covering & Cloth Rear Seat	\$185
	86T	Rear Tail Lamp Housing Prep	\$60
	18D	Global Unlock	NC
	16C	Badge Delete	NC
	55F	Remote Keyless Entry	\$340
	(87R)	Rear Camera Display in Center Stack	NC
	43D	Dark Car Feature	\$25
	47A	Engine Idle Feature	\$260
	63V	Cargo Storage Vault	\$245
		Designated as the "Us Marked Car"	<u> </u>
		Total for Vehicle	\$36,764

Please feel free to contact us with any questions, changes or to place an order.

Respectfully Submitted,

Jim Blecki

"A Member of the HCRTRICH Family of Automobile Dealerships"

TAX ID: 81-5162515

QUOTE

DATE	QUOTE#
5/18/2021	183263Q

Quotes valid 90 days

Quote To:

City of Hyattsville 4310 Gallatin St HYATTSVILLE, MD 20781 Ship / Deliver To:

GLOBAL PUBLIC SAFETY - HANOVER HANOVER INSTALL SHOP 7020 Dorsey Rd Ste C Hanover, MD 21076 United States

REP	QUOTE#	TERMS
NMB	183262Q	Net 30

DESCRIPTION	QTY	UNIT COST	TOTAL
UNMARKED 2021 FORD UTILITY POLICE INTERCEPTOR			
INTERIOR FRONT LIGHT		12 Str. 4 1 8	
ENFWB001KJ Ford Explorer/PI Utility w/o Option 76P (2020-21) Split Front (DRV) ID12ID12ID12ID12ID12ID12ID12ID12ID12I (PAS) IR_WIR_WIR_WIB_WIB_WIB_WIB_WIB_WI Accessories: PNFLBSPLT1 DSC w/ Breakout Box (Included) Notes: 2021 Ford Unmarked Utility Detective Unit (DRV) INI_NI_NI_NI_NI_NI_NI_(PAS) Config # QE078245	1	847.50	847.50
Labor per hour for vehicle upfitting	2	95.00	190.00
IMPER GRILLE LIGHTS			
mpower(R) 3in. Stud Mount Pascia Light for Ford Grille Mount application, 18in. hard wire w/ sync option, SAE Class 1 & CA Title 13,	1	87.50	87.50
mpower(R) 3in, Stud Mount Fascia Light for Ford Grille Mount application, 18in, hard wire w/ sync option, SAE Class 1 & CA Title 13,	1	87.50	87.50
Installation	2	95.00	190.00
I OWER CRILLE LIGHTS	in the second	A CHARLES OF STREET	
mpower® 4" Fascia Light w/ Stud Mount, 18" hard wire w/ sync option, SAE Class 1 & CA Title 13, 9-32 Vdc, Black Housing, 12 LED, Dual Color - Blue/White EMPS2STS4E	1	98.00	98.00
mpower® 4" Fascia Light w/ Stud Mount, 18" hard wire w/ sync option, SAE Class 1 & CA Title 13, 9-32 Vdc, Black Housing, 12 LED, Dual Color - Red/White EMPS2STS4D	1	98.00	98.00
BRACKETS FOR MPOWER GRILL LIGHTS	2	6.00	12.00
Labor per hour for vehicle upfitting	2	95.00	190.00
FOG LIGHT AREA		personal del constitución del constituci	
	UNMARKED 2021 FORD UTILITY POLICE INTERCEPTOR INTERIOR FRONT LIGHT ENFWB001KJ Ford Explorer/PI Utility w/o Option 76P (2020-21) Split Front (DRV) ID12ID12ID12ID12ID12ID12ID12ID12(PAS) IR_WIR_WIR_WIR_WIB_WIB_WIB_WIB_WI Accessories: PNFLBSPLT1 DSC w/ Breakout Box (Included) Notes: 2021 Ford Unmarked Utility Detective Unit (DRV) I-NI-NI-NI-NI-NI-NI-NI-NI-NI (PAS) Config # QE078245 Labor per hour for vehicle upfitting UPPER GRILLE LIGHTS mpower(R) 3in. Stud Mount Fascia Light for Ford Grille Mount application, 18in. hard wire w/ sync option, SAE Class 1 & CA Title 13, 9-32 Vdc, Black Housing, 8 LED, Dual Color - Blue/White mpower(R) 3in. Stud Mount Fascia Light for Ford Grille Mount application, 18in. hard wire w/ sync option, SAE Class 1 & CA Title 13, 9-32 Vdc, Black Housing, 8 LED, Dual Color - Red/White Installation LOWER GRILLE LIGHTS mpower® 4" Fascia Light w/ Stud Mount, 18" hard wire w/ sync option, SAE Class 1 & CA Title 13, 9-32 Vdc, Black Housing, 12 LED, Dual Color - Blue/White EMPS2STS4E mpower® 4" Fascia Light w/ Stud Mount, 18" hard wire w/ sync option, SAE Class 1 & CA Title 13, 9-32 Vdc, Black Housing, 12 LED, Dual Color - Red/White EMPS2STS4D BRACKETS FOR MPOWER GRILL LIGHTS Labor per hour for vehicle upfitting	UNMARKED 2021 FORD UTILITY POLICE INTERCEPTOR INTERIOR FRONT LIGHT ENFWB001KI Ford Explorer/PI Utility w/o Option 76P (2020-21) Split Front (DRV) D12ID12ID12ID12ID12ID12ID12ID12ID12ID12I	UNMARKED 2021 FORD UTILITY POLICE INTERCEPTOR INTERIOR FRONT LIGHT ENFWBOOLKI Ford Explorer/PI Udility w/o Option 76P (2020-21) Split Front (DRV) D12ID12ID12ID12ID12ID12ID12ID12ID12ID12 (PAS) R. WIR. WIR. WIR. WIB. WIB. WIB. WIB. WIB. WIB. WIB. WIB

Subtotal

TOTAL

TAX ID: 81-5162515

QUOTE

DATE	QUOTE#
5/18/2021	183263Q

Quotes valid 90 days

Quote To:

City of Hyattsville 4310 Gallatin St HYATTSVILLE, MD 20781 Ship / Deliver To:

GLOBAL PUBLIC SAFETY - HANOVER HANOVER INSTALL SHOP 7020 Dorsey Rd Ste C Hanover, MD 21076 United States

REP	QUOTE#	TERMS
NMB	183262O	Net 30

ITEM	DESCRIPTION	QTY	UNIT COST	TOTAL
EMPS2STS4E	mpower(R) 4in. Fascia Light w/ Stud Mount, 18in. hard wire w/ sync option, SAB Class 1 & CA Title 13, 9-32 Vdc, Black Housing, 12 LED, Dual Color - Blue/White	1	98.00	98.00
EMPS2STS4D	mpower(R) 4in. Fascia Light w/ Stud Mount, 18in. hard wire w/ sync option, SAE Class 1 & CA Title 13, 9-32 Vdc, Black Housing, 12 LED, Dual Color - Red/White	i	98.00	98.00
LABOR-INSTALLATION	Labor per hour for vehicle upfitting	2	95.00	190.00
	FRONT CORNER HEADLIGHT UNDER COVER		-	
ELUC3H010R	Universal UnderCover Screw-In LED Insert Single Light Kit, 9-32 Vdc w/ 10'5-wire harness; includes insert, Lens #1 (Extreme Angle) & Inline Flasher Single Color Red	1	66.50	66.50
ELUC3H010B	Universal UnderCover Screw-In LED Insert Single Light Kit, 9-32 Vdc w/ 10' 5-wire harness: includes insert, Lens #1 (Extreme Angle) & Inline Flasher Single Color Blue	1	66.50	66.50
PLUCTCL1	Replacement Collar Kit, includes 1 Collar, 2 Gaskets & Screws for the Twist-In UnderCover	2	2.50	5.00
LABOR-INSTALLATION	Labor per hour for vehicle upfitting	2	95.00	190.00
	UNDER MIRROR SURFACE MOUNT LIGHTS		Contract of the Contract of th	
ENT3B3J	Intersector Surface Mount Light, 9-32 Vdc, Black Housing, 18 LEDs, Dual Color - Red/Blue	2	149.00	298.00
NEW ITEM	PMP2BKUMB4 Under Mirror Mount Bracket Kit (each) for installation on Ford PI Utility 2020 for use with mpower® 3" and 4" Stud or Quick Mount and Intersector Surface Mount	2	16.00	32.00
LABOR-INSTALLATION	Labor per hour for vehicle upfitting	2	95.00	190.00
	PROFILE LIGHTS		145 C 115 (17)	
ENFSGS3J	nFORCE(R) Single Deck/Grille Mount Light, SAE Class 1, 10-16v, Black Housing, 12 LED, Dual Color - Red/Blue	2	107.00	214.00
LABOR-INSTALLATION	Labor per hour for vehicle upfitting	2	95.00	190.00
	TAIL LIGHT UNDER COVER LED			
ELUC3H010R	Universal UnderCover Screw-In LED Insert Single Light Kit, 9-32 Vdc w/ 10' 5-wire harness: includes insert, Lens #1 (Extreme Angle) & Inline Flasher Single Color Red	1	66.50	66.50

Subtotal

TOTAL

QUOTE ACCEPTED BY SIGNATURE & DATE:

TAX ID: 81-5162515

QUOTE

DATE	QUOTE#
5/18/2021	183263Q

Quotes valid 90 days

Quote To:

City of Hyattsville 4310 Gallatin St HYATTSVILLE, MD 20781 Ship / Deliver To:

GLOBAL PUBLIC SAFETY - HANOVER HANOVER INSTALL SHOP 7020 Dorsey Rd Ste C Hanover, MD 21076 United States

REP	QUOTE#	TERMS	
NMB	183262Q	Net 30	

ITEM	DESCRIPTION	QTY	UNIT COST	TOTAL
ELUC3H010B	Universal UnderCover Screw-In LED Insert Single Light Kit, 9-32 Vdc w/ 10' 5-wire harness: includes insert, Lens #1 (Extreme Angle) & Inline Flasher Single Color Blue	1	66.50	66.50
PLUCTCL1	Replacement Collar Kit, includes 1 Collar, 2 Gaskets & Screws for the Twist-In UnderCover	2	2.50	5.00
LABOR-INSTALLATION	Labor per hour for vehicle upfitting	2	95.00	190.00
Walter A. Walter	INTERIOR REAR VISOR LIGHTS			
NEW ITEM	ENFWB003P1 Ford Explorer/PI Utility w/o Option 76P (2020-21) Solid Rear (DRV) ID12ID12ID12ID12ID12ID12 (PAS) IR_AIR_AIB_AIB_AIB_AIB_AI Accessories: PNFLBSPLT1 DSC w/ Breakout Box (Included) Notes: 2021 Ford unmarked Utility Detective Unit (DRV) IA-IIA-IIA-IIA-IIA-IIA-IIA-IIA-IIA-IIA-	1	657.50	657.50
LABOR-INSTALLATION	Labor per hour for vehicle upfitting	2	95.00	190.00
	INTERIOR HATCH LIGHTS	(Castilla)		175 175 2015
EMPS1QMS3J	mpower(R) 3in. Fascia Light w/ Quick Mount, 18in. hard wire w/ sync option, SAE Class 1 & CA Title 13, 9-32 Vdc, Black Housing, 8 LED, Dual Color - Red/Blue	2	87.50	175.00
LABOR-INSTALLATION	Labor per hour for vehicle upfitting	2	95.00	190.00
	SIREN & SPEAKER	strange.	CONTRACTOR I	
ETSA481RSP	nERGY(R) 400 Series Remote Siren w/ Button Control, 10-16v - for one 100 watt speaker	1	471.50	471.50
ETSS100J	100 watt Composite Speaker w/ Universal Bail Bracket	1	125.00	125.00
ETSSVBK01		1	22.50	22.50
LABOR-INSTALLATION	Labor per hour for vehicle upfitting	4	95.00	380.00
	RADIO INSTALL			
CUSTOMER ITEM	Customer Provided Part 6 - Motorola APX7500 Radios, mics, speaker, & cables provided by customer.	1	0.00	0.00
LABOR-INSTALLATION	Labor per hour for vehicle upfitting	3	95.00	285.00

Subtotal

TOTAL

QUOTE ACCEPTED BY SIGNATURE & DATE:

TAX ID: 81-5162515

QUOTE

DATE	QUOTE#
5/18/2021	183263Q

Quotes valid 90 days

Quote To:

City of Hyattsville 4310 Gallatin St HYATTSVILLE, MD 20781 Ship / Deliver To:

GLOBAL PUBLIC SAFETY - HANOVER HANOVER INSTALL SHOP 7020 Dorsey Rd Ste C Hanover, MD 21076 United States

REP	QUOTE#	TERMS	
NMB	183262Q	Net 30	

	IAMD	103202Q	Mer		
ITEM	DESCRIPTION	a	ITY	UNIT COST	TOTAL
The state of the s	SHARKEE ANTENNA				
NEW ITEM	TSH-Hyattsville-001 Sharkee antenna Kit will connect: 1X 7/800 radio moto 2X arbitrator wifi 1X arbitrator gps		1	304.00	304.00
LABOR-INSTALLATION	Labor per hour for vehicle upfitting		羅[1]	95.00	95.00
	CONSOLE	No Sea of the Act	2250 E		
AS4.C237.501	2021 INT SUV CONSOLE Includes cost of armrest/cupholder, and face plates/blanks to fill		1	422.80	422.80
AS4.A100.016	SIDE CONSOLE ARMREST ASSEMBLY AS4.A100.016		1	120.40	120.40
AS4.C501.016	DUAL CUPHOLDER (NO ARMREST)		1	44.80	44.80
MMSU-1	Magnetic Mic Single Unit, 1 Single Unit Conversion Kit includes: One (1) magnetic base piece, One (1) slotted metal disc adapter, A set of mounting hardware, Hex key, Installation and safety instructions		2	27.00	54.00
AS4.F112.015-4	3"X2"X7" OPEN JUNK BOX 3" TOP PL3" Plate. 3" Deep)	1	63.00	63.00
AS4.F111.297	AS4.F111.297 MOTO APX6500/7500 FP		1	23.80	23.80
AS4.F111.299	Sound Off ETSA380R/481RSP FP		1	23.80	23.80
LABOR-INSTALLATION	Installation		2	95.00	190.00
	INSTALL KIT	real carry of the		Yes Land	
INSTALL KIT	Vehicle Mounting Installation Kit: Wiring Harness, Mounti associated material and equipment for install. All freight &	ing brackets, and shipping	1	350.00	350.00
7616-1001B	Dual Time Delay		1	79.20	79.20
	LUND LOFT ELECTRONICS TRAY		me I		
LOFT-PIU20-EC	20+ Ford Police Utility/Explorer Loft Electronic Equipmen Dimension 16.5" x 40" LOFT-PIU20-EC Includes removal electronics installation platform, allowing "bench" prep pric (Optional Accessories Available)	ble stand-off	1	622.80	622.80
LOFT-PIU20-NPKIT	LOFT- Non-Partition Mount Kit with for 2020 PIU		1	127.99	127.99
LABOR-INSTALLATION	Labor per hour for vehicle upfitting		2	95.00	190.00
	LUND STORAGE BOX		2023	Open Harman St.	

Subtotal

TOTAL

TAX ID: 81-5162515

QUOTE

DATE	QUOTE#
5/18/2021	183263Q

Quotes valid 90 days

Quote To:

City of Hyattsville 4310 Gallatin St HYATTSVILLE, MD 20781 Ship / Deliver To:

GLOBAL PUBLIC SAFETY - HANOVER HANOVER INSTALL SHOP 7020 Dorsey Rd Ste C Hanover, MD 21076 United States

REP	QUOTE#	TERMS
NMB	183262Q	Net 30

ITEM	DESCRIPTION	QTY	UNIT COST	TOTAL
SSTB-2042RM-ECO20	The SSTB-2042-ECO is an economical version that utilizes two keyed locking flush trigger lever latches opposed to the original single simplex lock. The SSTB-2042-ECO dimensions are the same at 20"D x 42"W x 9"H and uses the same HD slides and constructed of steel. The raised mount 20" x 42" vault allows easy access to the spare tire and provides space for equipment under the vault.		1,160.64	1,160.64
SSTB-2042-CR	Optional Cargo Rail Kit. The cargo rails come separate and not attached on the boxes and need to be fastened to the top of the boxes at time of installation.	1	131.12	131.12
LABOR-INSTALLATION	Installation	2	95.00	190.00
CONTRACTS-MD	MARYLAND State Contracts: MD State DOIT - Hardware and Associated Equipment and Services and Associated Equipment 2012 - Master Contract BPO# 060B2490022 MD State DOIT - Desktop, Laptop and Tablet 2015 - Master Contract BPO# 060B5400007 MD State DGS - Police Vehicle Equipment & Emergency Vehicle Warning Systems & Lighting 2017 - BPO# 001B8400207	1	0.00	0.00

THANK YOU FOR USING GLOBAL, WHERE "DETAILS MAKE THE DIFFERENCE!"

EMAIL SIGNED QUOTES TO SALES @GLOBAL PUBLICS AFETY US of FAX (443) 577

Tax, if applicable, is not included.

TOTAL

Subtotal

\$10456.35

\$10,456.35

Vehicles will be invoiced within 15 days of communication of job completion, whether picked up or not. All parts de-installed or removed from vehicle(s) must be removed at time of drop-off. Parts not picked up will be recycled or shipped at your expense. Arrangements for packing and shipping must be arranged at time of order. Handling charges apply. 25% re-stocking fee applies to returns after 15 days from receipt to returns on special orders.

QUOTE ACCEPTED BY SIGNATURE & DATE:

Page 5